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TOTAL MARKS : 200 EXAM DURATION : 02:00 Hrs
TOTAL NO OF QUESTIONS : 200

QID : 201 - In the following question, select the missing humber from the given series.
2,5,11,23,?

el weat & v a1v fashedl & § oo 37 AT HIioIT|

2,5,11,23,?

Options:

1) 47

2)45

3)44

4) 43
Correct Answer: 47
Candidate Answer: 47

QID : 202 - In the following question, select the missing number from the given series.
2,3,7,16,32,?

TFeATe e weat # U ¢ fashodt & & oo 37 o1d Hifoie|

2,3,7,16,32,?

Options:

1) 57

2)76

3) 62

4) 67
Correct Answer: 57
Candidate Answer: 57

QID : 203 - In the following question, select the missing number from the given series.
8,11,14,17,20,?

TF=ATe e weat # 74U 91¢ fashoul & & ot 3ish o1d Hifaw|

8,11,14,17,20,?

Options:

1)21

2)22

3)23

4) 27
Correct Answer: 23
Candidate Answer: 23

QID : 204 - In the following question, select the missing number from the given series.
18,14, 10,6, ?
TerAfated woat # fev 1w fashedt # & ofe 3ish AT HIoTv|

18,14, 10,6,?
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Options:
1)2

2)3
3)4

4)5
Correct Answer: 2
Candidate Answer: 2

QID : 205 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

ADCB, FIHG, KNML, ?
Ta 3R T I 8, o & v ug ofed B T 9T fashedt # & ag we fawen giAw, St siegsha g |
ADCB, FIHG, KNML, ?

Options:

1) PSRQ

2) PSQR

3) QTRS

4) QSTR

Correct Answer: PSRQ

Candidate Answer: PSRQ

QID : 206 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
BDG, HIM, NPS, ?

TS Jefehat T a1 8, foreet & v e ded §1 v 1w fawedt 7 & a5 e fawew giee, S sngme QU |

BDG, HIM, NPS, ?
Options:

1) TVY

2) TVW

3) UVX

4) UWz
Correct Answer: TVY
Candidate Answer: TVY

QID : 207 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
GF, KJ, ON, ?
Teh 3efsha T I B, forae & v ve ovd B1 Row 1w faswedt 7 & a5 @ Aoy g, S siegsha A QU |

GF,KJ, 0N, ?
Options:
1) RS

2) SR
3)ST

4)TS
Correct Answer: SR
Candidate Answer: SR

QID : 208 - Which word will appear fourth when arranged in order of dictionary?

1. Dictation
2. Dictionary
3. Dimple

4. Dinner

5. Deputy

USEEHI o ITAR AL el TR il AT 2Ueg T TYT T JTa?

1. Dictation
2. Dictionary
3. Dimple

4. Dinner

5. Deputy
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Options:

1) Dinner

2) Dimple

3) Dictation

4) Dictionary

Correct Answer: Dimple
Candidate Answer: Dinner

QID : 209 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Slowly
2. Slam
3. Slump
4. Sledge
5. Slate

e ereal 1 Qrecehter H 3= aTel el & AR ford|

1. Slowly
2. Slam
3. Slump
4. Sledge
5. Slate

Options:
1) 25431
2) 52413
3) 25413
4) 52431

Correct Answer: 25413
Candidate Answer: 25413

QID : 210 - Which word will appear second when arranged in order of dictionary?

AR & TR YA Fal TR lel T A3 G@Y FUTA T IHTTIT?

Options:

1) Boost

2) Bonkers

3) Bonjour

4) Bonnet

Correct Answer: Bonkers

Candidate Answer: Bonnet

QID : 211 - Which word will appear last when arranged in order of dictionary?

QTSEHIRN o AN AU el T it AT A AR TATeT R 3T0MT?

Options:

1) Heritage

2) Hermitage

3) Healing

4) Heap

Correct Answer: Hermitage
Candidate Answer: Hermitage

QID : 212 - In the following question, select the odd number pair from the given alternatives.

TeeAfafed weat & v 1w fashedl & & fawe dear goa &1 giv|
Options:

1)7-50

2)11-122

3)15-226

4) 13-168
Correct Answer: 13 — 168
Candidate Answer: 13 — 168

QID : 213 - In the following question, select the odd number pair from the given alternatives.

el weat & v 1w fashedl & & fawe dear goa &I gi=v|
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Options:
1)7-56

2) 10 - 110
3)9-90

4)8-96
Correct Answer: 8 — 96
Candidate Answer: 8 — 96

QID : 214 - In the following question, select the odd letters from the given alternatives.

TPrAfafed weat & U a1v fashet & & fawe 37T &1 giaw|

Options:
1) KM

2) PR
3)TV

4) EH
Correct Answer: EH
Candidate Answer: EH

QID : 215 - In the following question, select the odd letters from the given alternatives.

TrAfald weat & U arv fashedt & @ fawe 37T &1 giaw|

Options:
1) RQP

2) LKJ
3) HGF

4) ECB
Correct Answer: ECB
Candidate Answer: ECB

QID : 216 - In the following question, select the odd word from the given alternatives.

TAFATTad weat & fow a1C fashedl & @ fawa ueg 1 giav|
Options:

1) Sword

deldik

2) Spear

HTelT

3) Gun

e

4) Dagger

HR

Correct Answer: Gun

o

Candidate Answer: Gun
g

QID : 217 - In the following question, select the odd word pair from the given alternatives.

AT oot # 4T 910 fashoul & & fawe g Z7A &1 YiAT|
Options:

1) Brown — Colour

T — T

2) Rice — Grain

ITdel — ool

3) Fan — Air

e - arg

4) Iron — Metal

ofer - e

Correct Answer: Fan — Air
T - arg

Candidate Answer: Fan — Air
T - arg
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QID : 218 - In the following question, select the odd word pair from the given alternatives.

ferAfaTed weat # feu 1w fashout 7 & fawe usg I &1 v |

Options:

1) Cry — Laugh

AT — §HAT

2) Up — Down

FG - oA

3) Increase — Decrease

Gl — "cTeT

4) Walking — Running

Tl — GigaT

Correct Answer: Walking — Running
TeleAT — Gi5aT

Candidate Answer: Walking — Running

AT — ElgaT

QID : 219 - In the following question, select the related number from the given alternatives.
11:121::12:7?

Rrafaf@d weat & R arw faswedt # & daftid dear & gfaw

11:121::12:?

Options:
1) 144

2) 169
3) 196

4) 154
Correct Answer: 144
Candidate Answer: 144

QID : 220 - In the following question, select the related number from the given alternatives.
15:256::14:?

TerAfated woat & fev 1w fashedl & & deiftrd wear 1 giav)

15:256::14:7?

Options:

1) 225

2) 144

3)25

4) 95
Correct Answer: 225
Candidate Answer: 225

QID : 221 - In the following question, select the related number from the given alternatives.
108:11664::107:?

TerAfated woat & v 1w fashedl & Heftrd Tear &1 giav

108:11664::107:?

Options:

1) 11449

2) 10449

3) 10849

4) 11749
Correct Answer: 11449
Candidate Answer: 11449
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QID : 222 - In the following question, select the related letters from the given alternatives.
CHARGER : DGBQHDS : : CELLULAR : ?

Frafafld wea # Ru arv fRedt # @ et 3Rt & 9w
CHARGER : DGBQHDS : : CELLULAR : ?

Options:

1) DDMKVKBQ

2) DDNKKVBQ

3) DDMKUKCQ

4) DDNKUBVQ
Correct Answer: DDMKVKBQ
Candidate Answer: DDMKVKBQ

QID : 223 - In the following question, select the related letters from the given alternatives.
ROME : QNLD : : MORE : ?

et weat # feu a1v fasheut # & Heiftrd R 1 gl

ROME : QNLD : : MORE : ?

Options:

1) LNQD

2) LNQC

3) LMQD

4) LMQC
Correct Answer: LNQD
Candidate Answer: LNQD

QID : 224 - In the following question, select the related letters from the given alternatives.
CHANNEL : XSZMMVO : : MUSICAL : ?

TeeAfated weat # fou a1v fashout & Heftrd 3R 1 giav|

CHANNEL : XSZMMVO : : MUSICAL : ?

Options:

1) NFHRXZO

2) NFHQYZP

3) NEHRXZP

4) NFIRXZO
Correct Answer: NFHRXZO
Candidate Answer: NFHRXZO

QID : 225 - In the following question, select the related word from the given alternatives.
Rain : Clouds : : Heat : ?

TeFAfaTed weat & v 1w fashedl & & Heiftrd erse; 1 v

quT: G 1 FEAT: ?

Options:
1) Distance

Correct Answer: Sun

Candidate Answer: Sun

i
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QID : 226 - In the following question, select the related word from the given alternatives.

Garden : Plants : : Book : ?
AT weat # 7T 10 fashoul & & Hefera ereg &1 giav|

Fafrar : oier: : qEaw s ?
Options:

1) Words

3ER

2) Pages

955

3) Writing

forg=

4) White

e,

Correct Answer: Pages
gss

c
Candidate Answer: Pages
g5

I3

QID : 227 - In the following question, select the related word from the given alternatives.

Doctor : Patient : : Teacher : ?
FrAfafld weat & v 1w fashedl & & Heiftid eree; 1 giv|

Rfthcas : Wi : Rrarw @ 2
Options:

1) Teach

9eTell

2) Student

ezt

3) School

Taeamer

4) Old

Q=T

el

Correct Answer: Student
[ECRIR

Candidate Answer: Student

gzt

QID:228-1f85x5-3=20and 18 x2—1 = 10, then 100 x20-5=?

I 85x5-3=20dur18x2—-1 =108, ar100x20-5="7?

Options:

1) 15

2) 20

3) 10

4) 13

Correct Answer: 10
Candidate Answer: 15

QID : 229 - By interchanging which two signs the equation will be correct?
25+18+2-4=20
et &Y RIgall &l 39 F RER Teelel T THFIOT TET 81 San?

25+18+2-4=20
Options:

1) + and +

+ dAqT +

2) +and -

+Jur -

3) +and -

+ Jar -

4) None of these

T W HIS AE
Correct Answer: + and —
+dar-
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Candidate Answer: + and —
+qur—

QID : 230 - In the following question, select the word which cannot be formed using the letters of the given word.

FUNDAMENTALY
TrAfaed fashedl & & g 2ee iaT ot QU 1T ereq & 3RT T TN e 6T AT S HehelT |

FUNDAMENTALY
Options:
1) SUNDAY

2) MEANT
3) FUNNY

4) TUNED
Correct Answer: SUNDAY
Candidate Answer: SUNDAY

QID : 231 - In the following question, select the word which cannot be formed using the letters of the given word.

DISTRIBUTION
TrsAf @ fashodt 3 & a5 ereg AT ST 8T 37T 2reg; & 3R T FHNT Tk LT S=A1dT S Hehell|

DISTRIBUTION
Options:
1) BUTTON

2) DISTURB
3) BRITAIN

4) BURNT
Correct Answer: BRITAIN
Candidate Answer: BRITAIN

QID : 232 - In the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they seem to
be at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:

I. Some pen are black.
II. Some pen are blue.
III. No black is red.

Conclusions:

I. No pen is red.

II. Some blue are black.
III. Some black are pens.

A T 1T e 7 F5 FHU 3R 3% qE 37 FUA W IR T fshy Rw 10 §, gretifes 3708 Ao A1 aedl & feear of aoheh §1 @ oy o3 31k fe
i ¥ & R 1w A & vy, e e et & 3mer ) giFadera §)

E2GH

L. 3 Fold Hel g

IL 5 Fo A 1
II1. F$ FHTeT AT e 8

fashy:

1. SIS Sl orel Ta gl
IL 53 i 1o §
IIL. & Hrel Ferd §
Options:

1)Only I

Fael I

2) Only II

Fhael 11

3) Only IIL

Fae 111

4) Only II and III
haef 11 dT 111

Correct Answer: Only III
haer 111

Candidate Answer: Only III
et 111

Latest Sarkari Jobs, Govt Exam Results,
Vacancies and updates on one click

| know More %05177712c90¢3885¢ 8/51

http://thepracticetest.in/cs_steno_17/respo



10/4/2017 Staff Selection Commision

QID : 233 - In the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they seem to
be at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:

I. All pen are pencils.
II. All pencils are red.
III. No pen is blue.

Conclusions:

I. No pencil is red.

II. Some pencils are pens.
III. No red is blue.

A foT 91T e & $© YA 3R 3% d1e 377 HYA W AR Fo s Ry a1v §, grefifes 373 a2 +Aid q2d & Bear & gach &1 @t sy o3 31k
i ¥ 5 R av e & vy, v 71w st & 3mar ) gieaserd 8

HYel:

1. Tl o dfe €1

IL. @sft 9frer orer &1
IIL. IS THedd el w7gT &

sy

1. s GTAeT oIret 78T B
IL. o T &ed §
IIL. IS oTeT el 7781 g1
Options:

1) Only II

el 11

2) Only III

haer 111

3) Both II and III

11 g2 111 gt

4) No conclusion follows.

S 8 fershy Ter =7e &1
Correct Answer: Only II
Sae 11

Candidate Answer: Only II
aer 11

QID : 234 - In a certain code language, "POTTER" is written as "ONSUFS". How is "WALKER" written in that code language?

T faferse g AT #, "POTTER" &1 "ONSUFS" for@r SITar §1 38 &I 9T 3 "WALKER" & fohT 9o forar seem?

Options:
1) VZKLFS

2) VZLKFS
3) VZKLFT

4) WALLFS
Correct Answer: VZKLFS
Candidate Answer: VZKLFS

QID : 235 - In a certain code language, "TOMB" is written as "MOVE" and "TACKLE" is written as "MFDGPR". How is "TABLET" written in that code language?

s faflise #g 57T , "TOMB" S "MOVE" 2T "TACKLE" &I "MFDGPR" for@r SITdT & | 59 15 $T9T # "TABLET" &' forg werr for@r sireem?

Options:
1) MFEPRT

2) MFDVER
3) MERPTS

4) MFEPRM
Correct Answer: MFEPRM
Candidate Answer: MFEPRM

Latest Sarkari Jobs, Govt Exam Results,
Vacancies and updates on one click

| know More %05177712c90¢3885¢ 9/51

http://thepracticetest.in/cs_steno_17/respo



10/4/2017 Staff Selection Commision

QID: 236 -
In the following question, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

farafoied us # Gy or fapeut # @ uw RE
(?) & TUE W T TR FTEA F FEATI

4 8 12
f\ \ s
F N \ FARY
/ \ ,// \ X
/ 38\ / 56\ / 2\
/ \ / \ / *
9 6 1 9 N 13
Options:
1)72
2) 78
3) 108
4)90

Correct Answer: 72
Candidate Answer: 72

QID: 237 -
In the following question, select the letter which can
be placed at the sign of question mark (?) from the
given alternatives.

T oy F fGr 7w Rereat A @ uwy R
(?) & TUE W A& I FeW F FAT

P i Tl - i
(ale (nlay [5]v
n 1 '
\N‘ 1/ \z|u/ \E|?2/
o S \‘aﬁ_ \\.H__,_,/

Options:

1)X

2)Y

3)7

4)A

Correct Answer: Z
Candidate Answer: Z

QID: 238 -
In the following question, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

e vy # Gy 7w foweur # @ ww R
(?) & TUT W A T FEA F AT

5|7 | 6 |36
10| ? | 17 | 64
9 |11| 8 | 56

Latest Sarkari Jobs, Govt Exam Results,
http://thepracticetest.in/cs_steno_1 7/respocO51 77712c90c3885¢ 10/51




10/4/2017 Staff Selection Commision

Options:
1)5

2)6
3)7

4)8
Correct Answer: 5
Candidate Answer: 5

QID: 239 -
In the following question, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

fAafateg oy # far om feeul & @ uw g
(?) & TUT W HE TN TEA F AT

Ve ‘ ~ P
\
f 5 6 \ \ /11 ? \
) | "
30 ﬂ \72 17 / 132 23,
\\ “u____-/ \\___f//
Options:
1) 10
2)12
3) 14
4) 16

Correct Answer: 12
Candidate Answer: 12

QID : 240 - Pointing to a lady, Rohit said "She is the sister of the daughter of my father’s wife’s son." How is the lady related to Rohit?

Teh T AT IR Hehel T gU AT = e, "dg A Tl i Feett o T H1 T 1 767 §1" 9 S AT A o FohR Feiferet &2
Options:

1) Daughter

ER

2) Sister

ST

3) Niece

ST

4) Daughter or Niece

Y 3rar avcfeiT

Correct Answer: Daughter or Niece
AT 3r2rar svchsh

Candidate Answer: Daughter or Niece

Y 372 srchsh

QID : 241 - Present ages of A and B are in ratio 3 : 5. 7 years later B's age will be twice the age of C. If C celebrated his 10th birthday 4 years ago, then what is the
present age (in years) of A?

A TIT B T SeTATT 31 &7 301l 3 2 5 ¥1 7 I 9o B ¥ g C Y 3y 1 Akt gleft| afg C & 3r9ar 10 af Shewfeet 4 a¥ g aamar o, & A ¥ aoame 3y (avf #)
1 8?

Options:
1) 14

2)21
3)28

4) 42
Correct Answer: 21
Candidate Answer: 14
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QID: 242 - A, B, C, D and E are sitting around a circular table. A don't have B and E as his neighbours. E is not sitting with D. When seen in clockwise direction,
which of the order of sitting is correct?

A, B, C, DWEwmmiﬁ%ggl B JUTE, A % usielt gt &1 E, D & 41y =AY Sar & aﬁhvﬂaﬁﬁ?wﬁa@ﬁgc,ﬁmﬁﬁiaﬁ@mwaﬁaww
e ?

Options:

1) ABDEC

2) ADBEC

3) DBCEA
4) BCEDA

Correct Answer: ADBEC
Candidate Answer: DBCEA

QID : 243 - In a class, there are 40 students. Some of them passed the examination and others failed. Raman'’s rank among the student who have passed is 13t
from top and 17t from bottom. How many students have failed?

T HeT & 40 &7 &1 ﬁﬁﬁg@qﬁmﬁmﬁy%amma@c—cﬁﬁguﬁ Wgumsﬁﬁwwﬁ 13-F T AT F 17-F TUHT R E mﬁma@c—chv‘rgc
&

Options:

1) 11

2) 10

3)9

4) Cannot be determined

AT AT TR ST FehelT

Correct Answer: 11

Candidate Answer: 11

QID : 244 -
Which answer figure will complete the pattern in the
question figure?

HiT W IO HFlA TF HFa & Uaed & QT

HYaf?
VAN
ViH
-
AV
o}
[
o
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Correct Answer:

1]

Candidate Answer:

1]

QID : 245 -

Staff Selection Commision

From the given answer figures, select the one in

which the question figure is hidden/embedded.

& 73 3 AplaA # ¥ 3@ 39 HPA F gEAT

Sra & oy ampla @R &

Options:

P

2)

3)

4)

Q)

Correct Answer:

[~

<ol

Candidate Answer:
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QID : 246 -
A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

R & uy agpfaat d RE@w 3gER FEE &
Azl Dedd AT Tield & ag a¢ g I HGA
s g game

|3

Options:
1)

oo

O
OO

2)

[ Y
[ Y

3)

[ Wt

4)

D d
D°q

Correct Answer:

= <
O
[ i

Candidate Answer:

o <
o
[ W
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QID : 247 -
If & mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

afe me YT F AB @ WX @ A, ar &
T FEad # ¥ BT @ aEy uy el
T8 ufafasa efr?

O

Options:
1)

N

w

Y

ol 18] 18] 1€

Correct Answer:

¢

Candidate Answer:

¢

QID: 248 -
Two position of a cube are shown below. What will
come opposite to face containing ‘X'?

# mE T g EEum g i E X gE
Toleh o Taufyd &7 3HTIIm?

i
N~ )
Y | X Z | N
T
Latest Sarkari Jobs, Govt E R Its,
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Options:
1)z

2)0

3) Either Zor O

T ar Z 37gar O

4)p

Correct Answer: Z
Candidate Answer: Z

QID: 249 -

A word is represented by only one set of numbers as given in any one of
the alternatives. The sels of numbers given in the alternatives are
represented by two classes of alphabets as shown in the given two
matrices. The columns and rows of Matrix-1 are numbered from 0 to 4 and
that of Matrix-ll are numbered from 5 to 9. A letter from these matrices can
be represented first by its row and next by its column, for example, ‘I' can
be represented by 41, 87, etc., and ‘N’ can be represented by 04, 89, etc.
Similarly, you have to identify the set for the word “TRACE”.

U RG hdd Uh GEAT-HAR &’ ceitam vEm ¥, S & fawedt A @
et o & R o ¥ Rwedt & Bu v darwEp st & Q@
gRT guifw aw ¥ St T Bu o g amegel # ) wegEl & waEa Ak
ufth it TEar 0 @ 4 & 3R el B 5 @ 91 29 WRYE d US HeW
F Ugel IHAI U W gl # TAFH HEIT SR GeiET ST HehaT ®l
Seietur & Tow P @t 41, 87 TG g1 GoifaT o Tahar & T ‘N’ @04,
89, MG &1 GfEam o @aar &1 W1 d¥g § Fuer uA A fGr weg
“TRACE" & fou @ o ugaiaa &1

Matrix-I Matrix-Il

I e- gl
01234 5|6 7|89
O|FIE|K|JO|N SIME|Z|S| T
1|P{M[A|C|T 6|Z|K|F|C|Z
2IZ|G|W]I|Q 7|L|Q|Z]|Y|D
3|D|F|A|JL|R BIA|E|I|R| N
410|1|8S|P|X glQ|Z|T|Y| I

Options:
1) 14, 31, 32, 02, 56

2) 65, 67, 86, 97, 98
3)97,34,12,13,01

4) 14, 88, 89, 68, 23
Correct Answer: 97, 34, 12, 13, 01
Candidate Answer: 97, 34, 12, 13, 01

QID : 250 -
In the given figure, how many players are quick and fat?

&1 7% Apa A, frae Rendr da g AR g2

Players / Q Fat/

81

Quick /
GIC]
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Options:
1)31

2) 30
3)32

4)33
Correct Answer: 30
Candidate Answer: 33

QID : 251 - What is GST?

ST a7 2

Options:

1) A direct tax

Teh JcgaT Y

2) An indirect tax

Teh 3T9cTaT

3) A corporate tax

T HART ST

4) A municipal tax

T AR fAaH T

Correct Answer: An indirect tax
THh IcTET HT

Candidate Answer: A direct tax
Th JchaT ohY

QID : 252 - Which of the following is the not a small-scale industry in India?

Frafafd & & Fia 9Ra A i v org-3eeT a1t 87
Options:

1) Sugar Industry

Y 3T

2) Cotton Industry

ST 3ehrT

3) Petroleum Industry

eiferas 3ger

4) Handloom Industry

FYSHYET 36T

Correct Answer: Petroleum Industry
qefoe 3gteT

Candidate Answer: Petroleum Industry

QMR sz

QID : 253 - The Planning Commission is replaced by NITI Aayog. What is the full form of NITI?

ST AT Y ST97g NITI TS ST 917 § | NITI 7 ot e &/am 82

Options:

1) National Institute of Team India

2) National Institution for Transforming India

3) New India and Team India

4) No opiton is correct.

1S o farehed TET 71ET B

Correct Answer: National Institution for Transforming India
Candidate Answer: National Institution for Transforming India

ereTe $feeye B grewIfaer Sfsar
QID : 254 - Which of the following is known as market clearing price?

PHATITEd 3 U a7 TR AT 7T & 9 7 ST A1l 87
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Options:
1) Equilibrium Price
g FrAd
2) Disequilibrium Price
IrHeA T AT
3) Ceteris Paribus
g aes
4) No opiton is correct.
1S o Tashed TEY 81 81
Correct Answer: Equilibrium Price

g HAT

Candidate Answer: Equilibrium Price

g frAd

QID : 255 - What is the main purpose of inclusion of Directive Principles in the Constitution of India?

AR & FiaurT # e gidl & A fr S 1 ey 337 #4182
Options:

1) to establish socio-economic democracy

ATATOTR-31 ST TATRIT = & fow

2) to establish social democracy

HIATTS AR ST FUTIAT el oh ToIT

3) to establish Gandhian democracy

IERATET e T F:eT & faw

4) to establish political democracy

TSl Sehd s TATAT et & forw

Correct Answer: to establish socio-economic democracy
arHATSIH-31Tde dehdT TG W & fow
Candidate Answer: to establish socio-economic democracy

AHATTSIH-31THF SehdT TARAT W & fow

QID : 256 - The Panchayati Raj is based on which of the principle?

garrd It foRe Rgia o 3menRa 82
Options:

1) centralisation of power

HedT & FAROT I

2) unification of power

HedT & THIHOT W

3) decentralisation of power

HedT & fahgientor 1T

4) bifurcation of law

SfasTSTel refet

Correct Answer: decentralisation of power
TedT & [AFHGIRoT W

Candidate Answer: centralisation of power

HedT & FEROT T

QID : 257 - Who presides over the joint session of Lok Sabha and Rajya Sabha?

AlNeh T 3R AT THT & FYFA T 6T HCYRTAT Hlef HIAT 82
Options:
1) President of India

IR o ISgafer

2) Vice President of India
AR & SRISEITT

3) Speaker of Lok Sabha

Sl FHT T TRHT

4) Prime Minister of India
HR & T

Correct Answer: Speaker of Lok Sabha

Sleh THT T T
Candidate Answer: Vice President of India

R & IIrSgafa

QID : 258 - By which Constitutional Amendment Bill was the voting age reduced from 21 years to 18 years in India?

or Tenfae T [a9ae & Adere I 37 21 I & "l X 18 Tl i 715 2fi?
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Options:

1) 48th

48ar

2) 50th

59at

3) 61st

6l1ar

4) 78th

78ar

Correct Answer: 61st
61ar

Candidate Answer: 78th
78at

QID : 259 - Who among the following elects the Vice President of India?

R & SISl T fFeATaf@a & & fraeh ga@rr gar S 82
Options:

1) By the members of Parliament

G F HEEd ganT

2) By the members of Rajya Sabha

T T & FEHAT ganr

3) By the elected members of Lok Sabha

dieh FHT & fAaIIa Feedt ganT

4) Members of Parliament and State Legislative Assemblies
e 3R To faen= et & gewat ganT

Correct Answer: By the members of Parliament

G & GeEd ganT

Candidate Answer: Members of Parliament and State Legislative Assemblies

e 3R T faureT s & wewdt ganT

QID : 260 - Whose absence from the Democracy makes its functioning impossible?

ToREeRT 378719 Alehdd T 3T HI HATelel AT Tl &2
Options:

1) Home Ministry

E HAT

2) Prime Minister

L ICEE

3) Political Parties

TSN ger

4) Panchayati Raj System

AT ITST SIaEAT

Correct Answer: Political Parties

TSTeifaeh gl

Candidate Answer: Prime Minister

TETAAAT

QID : 261 - Which of the following is considered as a port town of Indus Valley Civilization?

o=t & @ aleT @7 Y =1y FAAT 7 T HeIIMME AL HAT STl 82
Options:

1) Harappa

ggoar

2) Lothal

drerer

3) Ropar

AR

4) Banawali

SeTaTelr

Correct Answer: Lothal
arerer

Candidate Answer: Lothal
arerer

QID : 262 - Krishnadevaraya was the ruler of which dynasty?

FSUICE T Toh ST LT & L A?
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Options:
1) Chola
arer
2) Bahmani
TEHAT
3) Pallava
Yoold
4) Vijayanagara
ICERCTEY

Correct Answer: Vijayanagara
[EEECDE

Candidate Answer: Pallava
Yeold

Staff Selection Commision

QID : 263 - The details of coronation ceremony are narrated in which of the following scripture?

TATTANF ARG AT faaRor feafaf@a 7 & foras forar srr &2

Options:

1) Kenopanishad

ETICIEECY

2) Vishnu Puran

fersop gRoT

3) Aitareya Brahmana

VAR SEAoT

4) Atharv Veda

3UF g

Correct Answer: Aitareya Brahmana
VAT SEHAT

Candidate Answer: Kenopanishad

FATYE

QID : 264 -

Which among the following is correctly matched?
frafafes # ¥ st gifea 32
(i) Shamse Siraj Afif = Tarikh-e-Firozshahi
o siftes - arde-o-fsdeedr
(ii)Ziyauddin Barni — Tarikh-e-Muhammadi
Srarsder ah - arfE-v-aEendr
(iii) Amir Khusarau — Tabakat-e-Masiri
AR gt - FErewa-v-Artadr

(iv) Ibn Batuta—Fatawa-e-Jahandan

7= AT - AT

Options:

1) (1)

2) (i)

3) (iii)

4) (iv)

Correct Answer: (i)
Candidate Answer: (ii)

QID : 265 - Which among the following is the oldest mountain series in India?

faf@a d ¥ geg ng?-ﬁ qad &[@?ﬂ HleT AT &2
Options:

1) Satpura

e gsT

2) Nilgiri

Ak

3) Himalaya

AT

4) Aravali

KiNCE]

Correct Answer: Aravali

3RTTC

Candidate Answer: Aravali

3RTF
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QID : 266 - Indravati, Pranhita and Sabari are important tributaries of which of these rivers?

Sgrady, wfoTar 3R Tl Reafaf@a & & g 3u-afea §2
Options:

1) Ganga

e

2) Godavari

aerady

3) Cauvery

HTRT

4) Krishna

hsuTT

c
Correct Answer: Godavari

FeTadr

Candidate Answer: Godavari

aneTadr

QID : 267 - Which type of forest is appropriate for Sandalwood trees

el & gl & [T forg JehR T SiaTer 39gerd 87
Options:
1) Evergreen

HeTagR
2) Tundra

=

3) Desert

frEas

4) Tropical Deciduous

SSUTRTESHRT qoTaTCT

Correct Answer: Tropical Deciduous
SsuTshfesei gofardy

Candidate Answer: Evergreen
HTagR

QID : 268 - Which one of the following bio-reserves of India is not included in the world network of bioreserve?

ARA & faeat F T A a1 sRSIa [aeg Acas & anfae 481 &2
Options:

1) Manas

HAlTH

2) Nanda Devi

siar &y

3) Gulf of Mannar

AR FT WIET

4) Nilgiri

GICITIE

Correct Answer: Manas

HATH

Candidate Answer: Nanda Devi

ey &dr
QID : 269 - How many legs does an insect have?

TF HIT & sl WaT &2

Options:
1)2

2)3
3)4

4)6
Correct Answer: 6
Candidate Answer: 6

QID : 270 - Insulin activates in

o # AT A
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Options:
1) Pancreas
IR
2) Parathyroid
RIARRTs
3) Thymus
qH T
4) Pituitary
drgfenr

Correct Answer: Pancreas
IR

Candidate Answer: Pituitary
AT

~

QID : 271 - Which among the following is not related to vitamin B complex group?

TfafEd 3 ¥ File a1 fFerfis ff Sircoaa a9 ¥ gaftd 7ar §?
Options:

1) Rivoflavin

RarFenfae

2) Thaimin

AT

3) Ascorbic acid

TERIfaE TfaE

4) Folic acid

Hifers s

Correct Answer: Ascorbic acid
TEHiTeS TS
Candidate Answer: Ascorbic acid

TEHITaH TRAE
QID : 272 - Viruses are usually made of which of the following?

IR AT e o= gl 87
Options:

1) Protein + Carbohydrates

N + Frafgrsse

2) Protein + Nucleic Acid

W + FgfeFeleh 3FeT

3) Protein + Ascorbic Acid

N + TEhiTah Tfag

4) Protein + Lipid

9réeT + fafds

Correct Answer: Protein + Nucleic Acid
WNET + el IFeT

Candidate Answer: Protein + Lipid
9T + fafas

QID : 273 - "Shrubs" are woody plants generally smaller and more compact than trees Which of the following is not a shrub tree?

" FHATAT B 3R 310 Jod A giad § Feafafld # & wid v A9 gier 78 8?7
Options:

1) Sunflower

T

2) Rose-of-Sharon

UA-3TH-2ReT

3) Butterfly Bush

TS T

4) Barberry

Crciy

Correct Answer: Sunflower

oG

o 9
Candidate Answer: Sunflower

ISAHET

N 9
QID : 274 - A medical procedure, during which a small sample of tissue is removed from a part of the body, is

Teh RIfheaT fsha, foraeh aRTeT Scieh &1 Teh BIeT AT 73T IR & Teh 19T I geT AT S7iell &, 98 &
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Options:
1) MRI
THIRITE
2) CT Scan
Hrér Thet
3) Biopsy
Eloies
4) All options are correct.
Tt e TEr &1

Correct Answer: Biopsy

ST

Candidate Answer: Biopsy

S

QID : 275 - Which force is responsible for the earth revolving around the sun?

& & °RT 3R ge arel et & v i &1 o SeAer 82
Options:

1) Magnetic Force

ECEIREC)

2) Electro-Magnetic Force

e dash gof

3) Longitudinal Force

Fgeed aw

4) Gravitational Force

TECATHITT T

Correct Answer: Gravitational Force
TecarhyoT &ol

Candidate Answer: Longitudinal Force

s

QID : 276 - Which among the following is cryogenic engines are used?

o1 A format sraTaifae So7eT o 3UNeT fohaT SiTaT 82
Options:

1) In rocket technology

e ey 3

2) To run the navy ships

AT RIS FF T & AT

3) In frost free referigerators

wiee BT ThereT

4) All options are correct.

i RyereT T €

Correct Answer: In rocket technology
e efardy 3

Candidate Answer: In rocket technology

b e ot
QID : 277 - During photosynthesis light energy is converted into which of the following?

TERT TRAYUT & &Rl TR Foit foraret aRafela gl &7
Options:

1) Mechanical energy

ity Feir

2) Chemical energy

TS el

3) Heat energy

SSH ot

4) Radiation energy

fafeoT Fatr

Correct Answer: Chemical energy

TarafAES Fer

Candidate Answer: Chemical energy

A TAE Foll

QID : 278 - What is the reason of surface tension in a liquid?

Teh Aol H Y56 AT T AT HIR0T §?

Latest Sarkari Jobs, Govt Exam Results,
Vacancies and updates on one click

| know More %05177712c90c3885¢ 23/51

http://thepracticetest.in/cs_steno_17/respo




10/4/2017
Options:
1) Electrical force between molecules
Fog3t & o faege afed
2) Cohesive force between molecules
T3 & e TR o
3) Adhesive force between molecules
FOI3T & oI TR g
4) Gravitational force between molecules
UL & e EcaTHT aef
Correct Answer: Cohesive force between molecules
ULt & o TSR Fef

Candidate Answer: Adhesive force between molecules

3UIHT & oI 3T ool
QID : 279 - Which of the following is an input device?

g1 @ ieT T geTqe f3amsa &7
Options:

1) Printer

X

2) Headphone

ESHIT

3) Monitor

Alelrex

4) Scanner

ThelX

Correct Answer: Scanner

THeX

Candidate Answer: Scanner

Thex

QID : 280 - Which of the following is not a computer language?

T & e Y eeX AT AT &2
Options:

1) Fortran

HRETH

2) Pascal

qrERel

3) Cobol

Frarer

4) English

el

Correct Answer: English

s

Candidate Answer: English

33

QID : 281 - What is the constituent of tear gas?

3 3 T Tceh T 87

Options:
1) Ethane

gl

2) Methane
e

3) Chloropicrin
FeRITAfRT

4) Ether

ERNS

Correct Answer: Chloropicrin

FeARITAToheT

Candidate Answer: Ethane

Een

QID : 282 - In which process there is gain of electron?

g IfshaT & SoleisT T oTeT 8l 87

Staff Selection Commision
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Options:
1) Decomposition
3A9gcs
2) Reduction
3dhI0T
3) Oxidiation
3itereieoT
4) Modification
HaleeT
Correct Answer: Reduction
3AhIoT

Candidate Answer: Oxidiation
3iterefieRzoT

QID : 283 - Which of the following gas is present in bio-gas?

Sig | 7 et 7 & e @ 3w Ao gl 82
Options:

1) Ethane

ic

2) Methane

T

3) Oxygen

it

4) Nitrogen

QIEED]

Correct Answer: Methane
T

Candidate Answer: Methane
e

QID : 284 - Solder is an alloy made of which two metals?

Tres fopet ar T3t & 9= fAw arg 82
Options:

1) Zinc and lead

e 3 drar

2) Zinc and copper

ST 3R drer

3) Tin and zinc

et 3R ST

4) Tin and lead

et 3R rar

Correct Answer: Tin and lead

e 3R drar

Candidate Answer: Zinc and lead
i 3R drar

Staff Selection Commision

QID : 285 - Which of the following diseases is NOT causedy by the smog?

oot & FheT Y ARy T I oA Qe 2
Options:

1) Asthma

FaLAT

2) Throat Cancer

T & HI

3) Emphysema

THBAT

4) Breathing problem

a1 ot 7 gHEAT

Correct Answer: Throat Cancer

I & FI

Candidate Answer: Emphysema

THERAT

QID : 286 - An increase in which of the following gases leads to global warming?

Srafaf@a & & e e 7 gig aeliaer arfder i 37 o ST §2
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Options:

1) Oxygen

Klicaicr

2) Carbon dioxide

FIeT STE3HTFASS

3) Sulphur dioxide

How SIE3TFATSS

4) Ozone

ST

Correct Answer: Carbon dioxide
FIeIT SIS

Candidate Answer: Carbon dioxide
FIeeT ITS3iTFATSS

QID : 287 - What is the full form of "PMSBY"?

"PMSBY" &7 fadTRd & &1 §?

Options:

1) Pradhan Mantri Suraksha Bima Yojana
TN HAT & STAT Froter

2) Pradhan Mantri Sukanya Bima Yojana
Tl FHAT GeherdT AT AT

3) Pradhan Mantri Swachchh Bharat Yojana
g FAAY FaTE HRA et

4) None of the is correct.

IS ot faheT FEr 76T &

Staff Selection Commision

Correct Answer: Pradhan Mantri Suraksha Bima Yojana

TEITeT FT G ST At

Candidate Answer: Pradhan Mantri Swachchh Bharat Yojana

TET HAT TITS R ANotell

QID : 288 - Which of the following schemes was replaced by APY in 2015?

et 7 & ford ATl 1 2015 3 THATS ganT Sgo & I ar?

Options:

1) Antyodaya Yojana

Hecdied st

2) Swavablamban Yojana

TaaeEe Arstell

3) National Pension System

IS YRreT Yot

4) Swabhiman Yojana

TAIfRATA DrstaAT

Correct Answer: Swavablamban Yojana
TS ArSTel

Candidate Answer: Antyodaya Yojana

Secdicd At

QID : 289 - Who invented Mercury Thermometer?

IRT YATHER & TASHRS T §7
Options:

1) Galileo

Frenferar

2) Michael Faraday

AgH IS

3) J.J. Thompson

S ArETEe

4) Fahrenheit

BRAGIFE

Correct Answer: Fahrenheit
BRAGISE

Candidate Answer: Fahrenheit

BREABTSE

QID : 290 - The word 'Smash' is associated with which game?

"ER amwmm@aﬁgagm%?
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Options:
1) Volleyball
afelater
2) Hockey
grehT
3) Lawn Tennis
et fae
4) Cricket
foshe

Correct Answer: Lawn Tennis

Elokan:]

Candidate Answer: Lawn Tennis

Elokanr:]

QID : 291 - England was defeated by which of the following countries in T-20 World Cup 2016 final?

Staff Selection Commision

&1 -20 faRaHT 2016 & WIS F HFATAd 2T & & fheT 2T o eI Sl &X1T AT?

Options:

1) India

HRT

2) West Indies
IET ST

3) Australia
siteeferm

4) Pakistan
qTfeREdTeT

Correct Answer: West Indies
e 3T
Candidate Answer: West Indies

AEE S8l

QID : 292 - Which of the following instruments is associated with Yehudi Menuhin?

forrAfafla & & et &1 areziT Age) Aefeet & Sfs g3 &2

Options:
1) Sitar
AR

2) Piano
pic

3) Violin
arafereT
4) Congo
Eaci

Correct Answer: Violin

arafoesT

Candidate Answer: Congo

Eac

QID: 293 -

Which among the following is matched correctly?

F=fafas & & sta-wr gafes &7

{i) Bharatnatyam — Andhra Pradesh

MTTATCTH - HIT weer
{ii} Kuchipudi — Madhya Pradesh

- HYg weEr
(iii}y Rathakali — Kerala
FYTHAl - Rl
{iv) Kathak = Tamil Nadu
Fruw - afFwg
Options:
1) (i)
2) (ii)
3) (iii)
4) (iv)

Correct Answer: (iii)
Candidate Answer: (i)

QID : 294 - "Kalinga Award" is provided by which institution/organization?
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Options:
1) Indian Government
AT TP
2) Orissa Goverment
33T EHR
3) Bengal Government
SIS THR
4) UNESCO
prroy

Correct Answer: UNESCO
TATHT

Candidate Answer: UNESCO
eIl

LN

QID : 295 - There were five categories in Nobel Prizes in beginning. Which among the following is the sixth which was added later?

YT H el [ERR #H uier AT of. FeaAfaf@d & & sor wi-wr 8, 59 are 7 Shet arar ar?
Options:

1) Economics

3reemE

2) Peace

enifar

3) Medical Science

Tafercar faamer

4) Literature

A

Correct Answer: Economics
e

Candidate Answer: Medical Science

Rafercar faamer

QID : 296 - The author of the book 'Life Divine' is?

TS BaTge JEd & oI @ Hie 2
Options:

1) Abul Kalam Azad

3T hellH 3TIe;

2) Jawaharlal Nehru

STATER ol #g®

3) Aurobindo Ghosh

IRfAeg By

4) Mulk Raj Anand

S JHTele

Correct Answer: Aurobindo Ghosh
IRTIeg Oy

Candidate Answer: Mulk Raj Anand
HoIoT 3Teie

QID : 297 - Dayton Accord was signed to solve the problem of

3T AT T FHEEAT Y §ol A & ToIT gEATe fohar I/
Options:

1) Russia

EX3)

2) East Timore

ot s

3) Bosnia

ST

4) Kosovo

HramEr

Correct Answer: Bosnia

e

Candidate Answer: East Timore

ot fae

QID : 298 - The idea of 'shuttle diplomacy' is closely associated with which of the following peace agreements?

"%magcﬁﬁ'a:rﬁwﬁmeﬁﬁrwsﬁaﬁ:mﬁm#ggrgm%?
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Options:
1) Middle East Peace Accord
e g e gt
2) Peace Accord in Africa
3T 3 enifa a@sia
3) Peace Accords in Latin America
ofea 3AReR 7 enfa gasia «w
4) Peace Accords in Southeast Asia
gfaroT g8 v # enfar aEsia W
Correct Answer: Middle East Peace Accord
LT qF AT TS
Candidate Answer: Peace Accords in Latin America

dfes 3R 7 aify gesia w—

QID : 299 - The National Parliamentary body of China is known as

it 1 T THET AT Hr ATH A SATAT SATT §
Options:

1) State council

T 9w

2) People's Assembly

Hgeq el

3) National People's Congress

AT NYeq HiE

4) None of the is correct.

F15 o T TEr 7161 B

Correct Answer: National People's Congress
AT NG HH

Candidate Answer: People's Assembly

NYeH e

QID : 300 - The Union Cabinet has approved the Memorandum of Understanding (MoU) between India and for the conservation of earthquake-
damaged pagodas.

ST ARFEsT A ARG & o E-aifiered qenisT & EXeTOT & forw wHsiar AT (AR @ A &1 8
Options:

1) Nepal

SyaTer

2) Myanmar

FIAR

3) Bhutan

seTet

4) Thailand

urSel’s

Correct Answer: Myanmar
AR

Candidate Answer: Nepal

AqTer

QID : 301 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

Hema doesn't has (1)/ to give (2)/ the dissertation to me (3)/ No Error (4)
Options:

1)1

2)2

3)3

4)4

Correct Answer: 1

Candidate Answer: 1

QID : 302 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

My mother (1)/ is having (2)/ grey hairs (3)/ No Error (4)

Options:

1)1

2)2

3)3

4) 4

Correct Answer: 3
Candidate Answer: 2
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QID : 303 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

Oh dear, (1)/ do have some relief (2)/ on my nerves (3)/ No Error (4)

Options:

1)1

2)2

3)3

4) 4

Correct Answer: 2
Candidate Answer: 2

QID : 304 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

Once you graduate (1)/ get a job (2)/ would be easier (3)/ No Error (4)

Options:

1)1

2)2

3)3

4) 4

Correct Answer: 2
Candidate Answer: 2

QID : 305 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

He has been (1)/ working here (2)/ for quite some time (3)/ No Error (4)

Options:

1)1

2)2

3)3

4) 4

Correct Answer: 4
Candidate Answer: 2

QID : 306 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

I decided (1)/ to climbed to the (2)/ top of the hill (3)/ No Error (4)

Options:

1)1

2)2

3)3

4) 4

Correct Answer: 2
Candidate Answer: 2

QID : 307 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

Reading (1)/ provides nutrition (2)/ with the mind (3)/ No Error (4)

Options:

1)1

2)2

3)3

4) 4

Correct Answer: 3
Candidate Answer: 2

QID : 308 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

Despite of minimal use of technology (1)/ they are able to manage (2)/ everything in a simple manner (3)/ No error (4)

Options:

11

2)2

3)3

4) 4

Correct Answer: 1
Candidate Answer: 2
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QID : 309 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

Sri Lanka is an island country (1) / into the Indian Ocean (2)/, south of India. (3)/ No error (4)

Options:
1)1

2)2
3)3

4) 4
Correct Answer: 2
Candidate Answer: 2

QID : 310 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

I'm content with what I make (1)/ and I am found simple joys in seeing a smile on customer's face (2)/ when they smell the jasmine flowers. (3)/ No error (4)

Options:

1)1

2)2

3)3

4) 4

Correct Answer: 2
Candidate Answer: 2

QID : 311 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

Each item was sold a pound.

Options:

1) at

2) for

3)in

4) of

Correct Answer: for
Candidate Answer: in

QID : 312 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

Be just fear nothing.

Options:
1) but

2) while
3) and

4) until
Correct Answer: and
Candidate Answer: but

QID : 313 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

He came two hours us.

Options:
1) before

2) ago
3) above

4) ahead
Correct Answer: before
Candidate Answer: before

QID : 314 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

Sunaina said, "She is sick the whole business."
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Options:
1) by

2) of
3) for

4) with
Correct Answer: of
Candidate Answer: of

QID : 315 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

He was quite when he heard what had happened.

Options:
1) laughing

2) amused
3) lovable

4) beautiful
Correct Answer: amused
Candidate Answer: amused

QID : 316 - A sentence has been given in Active/Passive Voice. Out of the four given alternatives, select the one which best expresses the same sentence in
Passive/Active Voice.

We saw you and him.

Options:
1) You and he were seen by us.

2) He and you were seen by us.
3) You were seen by us with him.

4) Both of you were seen by us.
Correct Answer: You and he were seen by us.
Candidate Answer: He and you were seen by us.

QID : 317 - A sentence has been given in Active/Passive Voice. Out of the four given alternatives, select the one which best expresses the same sentence in
Passive/Active Voice.

Tom painted the entire house.

Options:
1) The entire house was painted by Tom.

2) The entire house is painted by Tom.
3) The entire house were painted by Tom.

4) The house is painted by Tom.
Correct Answer: The entire house was painted by Tom.
Candidate Answer: The entire house was painted by Tom.

QID : 318 - A sentence has been given in Active/Passive Voice. Out of the four given alternatives, select the one which best expresses the same sentence in
Passive/Active Voice.

The science class viewed the comet.

Options:
1) The class viewed the comet.

2) The comet was viewed by the science class.
3) The comet is been viewed by the science class.

4) The comet is viewed by the science class.
Correct Answer: The comet was viewed by the science class.
Candidate Answer: The comet was viewed by the science class.

QID : 319 - A sentence has been given in Active/Passive Voice. Out of the four given alternatives, select the one which best expresses the same sentence in
Passive/Active Voice.

The kangaroo carried her baby in her pouch.
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Options:

1) The baby was carried by the kangaroo in her pouch.

2) The kangaroo carried the baby in pouch.

3) The baby is carried by kangaroo in her pouch

4) The baby is being carried up by kangaroo in her pouch.

Correct Answer: The baby was carried by the kangaroo in her pouch.
Candidate Answer: The baby was carried by the kangaroo in her pouch.

QID : 320 - A sentence has been given in Active/Passive Voice. Out of the four given alternatives, select the one which best expresses the same sentence in
Passive/Active Voice.

Grandma is knitting the sweater.

Options:
1) The sweater is being knit by grandma.

2) The sweater was being knit by grandma.
3) Grandma knit the sweater.

4) Grandma knitted the sweater.
Correct Answer: The sweater is being knit by grandma.
Candidate Answer: The sweater is being knit by grandma.

QID : 321 - A sentence has been given in Active/Passive Voice. Out of the four given alternatives, select the one which best expresses the same sentence in
Passive/Active Voice.

Who teaches you English?

Options:
1) Do you know who teaches you English?

2) English is taught by who?
3) By whom are you taught English?

4) Who taught you English?
Correct Answer: By whom are you taught English?
Candidate Answer: By whom are you taught English?

QID : 322 - A sentence has been given in Active/Passive Voice. Out of the four given alternatives, select the one which best expresses the same sentence in
Passive/Active Voice.

Mohita was weaving the basket.

Options:
1) The basket was woven by Mohita

2) The basket is woven by Mohita
3) The basket is being woven by Mohita

4) The basket was being woven by Mohita
Correct Answer: The basket was being woven by Mohita
Candidate Answer: The basket was being woven by Mohita

QID : 323 - A sentence has been given in Active/Passive Voice. Out of the four given alternatives, select the one which best expresses the same sentence in
Passive/Active Voice.

The hunter shot the deer.

Options:

1) The deer is shot

2) The deer is shot by the hunter

3) The deer was shot by the hunter

4) The hunter was shot by the deer

Correct Answer: The deer was shot by the hunter

Candidate Answer: The deer was shot by the hunter

QID : 324 - A sentence has been given in Active/Passive Voice. Out of the four given alternatives, select the one which best expresses the same sentence in
Passive/Active Voice.

Rohan gave the work to Pooja.
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Options:
1) The work has given to Pooja by Rohan

2) The work is given to Pooja by Rohan.
3) The work was given to Pooja by Rohan

4) The work will be given to Pooja by Rohan.
Correct Answer: The work was given to Pooja by Rohan
Candidate Answer: The work was given to Pooja by Rohan

QID : 325 - A sentence has been given in Active/Passive Voice. Out of the four given alternatives, select the one which best expresses the same sentence in

Passive/Active Voice.

Mrs. Sharma invited us to her house party.

Options:

1) We were invited by Mrs Sharma to her house party.
2) We are invited by Mrs. Sharma for house party.

3) We will be invited by Mrs Sharma for house party.
4) We are invited for the house party by Mrs Sharma.

Correct Answer: We were invited by Mrs Sharma to her house party.
Candidate Answer: We were invited by Mrs Sharma to her house party.

QID : 326 - In the following question, out of the four given alternatives, select the one which best expresses the meaning of the given word.

Distinct

Options:

1) Obscure

2) Similar

3) Clear

4) Vague

Correct Answer: Clear
Candidate Answer: Clear

QID : 327 - In the following question, out of the four given alternatives, select the one which best expresses the meaning of the given word.

Condemn

Options:

1) Approve
2) Laud

3) Belittle

4) Commend

Correct Answer: Belittle
Candidate Answer: Laud

QID : 328 - In the following question, out of the four given alternatives, select the one which best expresses the meaning of the given word.
Dingy

Options:

1) Pure

2) Sterile

3) Immaculate
4) Drab

Correct Answer: Drab
Candidate Answer: Sterile

QID : 329 - In the following question, out of the four given alternatives, select the one which best expresses the meaning of the given word.

Clever

Options:

1) Clear

2) Cunning
3) Foolish

4) Intelligent

Correct Answer: Intelligent
Candidate Answer: Intelligent

QID : 330 - In the following question, out of the four given alternatives, select the one which best expresses the meaning of the given word.

Constant
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Options:
1) changing

2) flowing
3) moving

4) fixed
Correct Answer: fixed
Candidate Answer: moving

QID : 331 - In the following question, out of the four given alternatives, select the one which is opposite in meaning of the given word.

Confine

Options:
1) permit

2) restrain
3) restrict

4) imprison
Correct Answer: permit
Candidate Answer: permit

QID : 332 - In the following question, out of the four given alternatives, select the one which is opposite in meaning of the given word.

Defeat

Options:

1) beat

2) attainment
3) collapse
4) loss

Correct Answer: attainment
Candidate Answer: beat

QID : 333 - In the following question, out of the four given alternatives, select the one which is opposite in meaning of the given word.

Fervent

Options:
1) passionate

2) cold
3) zealous

4) blazing
Correct Answer: cold
Candidate Answer: blazing

QID : 334 - In the following question, out of the four given alternatives, select the one which is opposite in meaning of the given word.

Imitation

Options:
1) copy

2) echo

3) genuine
4) follow

Correct Answer: genuine
Candidate Answer: copy

QID : 335 - In the following question, out of the four given alternatives, select the one which is opposite in meaning of the given word.

Immense

Options:
1) big

2) tiny
3) huge

4) grand
Correct Answer: tiny
Candidate Answer: tiny
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QID : 336 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Apple of one's eye

Options:
1) the person with sweet tastes

2) the person with wide pupils
3) the person who likes apple

4) the person who someone loves or cherishes the most
Correct Answer: the person who someone loves or cherishes the most
Candidate Answer: the person who someone loves or cherishes the most

QID : 337 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Ball is in your court

Options:

1) Make the right decision

2) The judgement in is your favour
3) You should catch the ball

4) It is upto you to decide something

Correct Answer: It is upto you to decide something
Candidate Answer: It is upto you to decide something

QID : 338 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Last Straw

Options:

1) Last problem in the series of problems
2) Last attempt to do something

3) Last chance to take decision

4) Last chance

Correct Answer: Last problem in the series of problems
Candidate Answer: Last chance to take decision

QID : 339 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Back to Square One

Options:
1) to go back to the beginning

2) going forward
3) you are holding a grudge

4) to go back to a square
Correct Answer: to go back to the beginning
Candidate Answer: going forward

QID : 340 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Burst Your Bubble

Options:

1) to blow away the balloons

2) to ruin someone's happiness

3) to give up

4) to talk with someone

Correct Answer: to ruin someone's happiness

Candidate Answer: to ruin someone's happiness

QID : 341 - Improve the bold part of the sentence:

(The bundle of coins were the only source) of information for them.

Options:
1) The bundles of coins were the only source

2) The bundles of coins were the only sources
3) The bundle of coin was the only source

4) No Improvement
Correct Answer: The bundles of coins were the only source
Candidate Answer: The bundle of coin was the only source
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QID : 342 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no
improvement is needed, select "no improvement".

No sooner (do the phone ring) that he was out of home.

Options:
1) did the phone rang

2) did the phone rings
3) did the phone ring

4) No Improvement
Correct Answer: did the phone ring
Candidate Answer: did the phone rang

QID : 343 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no
improvement is needed, select "no improvement".

Two more employees (will be hiring) by the company.

Options:
1) be hiring

2) will be hired
3) will hire

4) No Improvement
Correct Answer: will be hired
Candidate Answer: will be hired

QID : 344 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no
improvement is needed, select "no improvement".

This (modern furnitures will be sold) in the main market.

Options:
1) modern furniture will be sold

2) modern furnitures will be selling
3) modern furniture will be selling

4) No Improvement
Correct Answer: modern furniture will be sold
Candidate Answer: modern furniture will be sold

QID : 345 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no
improvement is needed, select "no improvement".

My boss (have being given) me a lot of work.

Options:
1) was being given

2) is being given
3) have been giving

4) No Improvement
Correct Answer: have been giving
Candidate Answer: have been giving

QID : 346 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no
improvement is needed, select "no improvement".

I (wander about) the stars up in the sky.

Options:

1) wander for

2) wonder about

3) wander in

4) No Improvement

Correct Answer: wonder about
Candidate Answer: wonder about

Latest Sarkari Jobs, Govt Exam Results,
Vacancies and updates on one click

| know More %05177712c90c3885¢ 37/51

http://thepracticetest.in/cs_steno_17/respo




10/4/2017 Staff Selection Commision

QID : 347 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no
improvement is needed, select "no improvement".

Go to the right and (keep a sharp left turn) you will reach the place.

Options:
1) take a sharp left turn

2) do a sharp left turn
3) make a sharp left turn

4) No Improvement
Correct Answer: take a sharp left turn
Candidate Answer: take a sharp left turn

QID : 348 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no
improvement is needed, select "no improvement".

Heena (keep a eye) on his son.

Options:
1) kept a eye

2) keep an eye
3) keeps an eye

4) kept a eyes
Correct Answer: keeps an eye
Candidate Answer: keeps an eye

QID : 349 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no
improvement is needed, select "no improvement".

(Why is) your working going on?

Options:
1) How is

2) What is
3) When is

4) No Improvement
Correct Answer: How is
Candidate Answer: How is

QID : 350 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no
improvement is needed, select "no improvement".

(Pack your bags) and come with me.

Options:
1) Keep your bag

2) Have your bag
3) Unpack your bag

4) No Improvement
Correct Answer: No Improvement
Candidate Answer: Have your bag

QID : 351 - A sentence has been given in Direct/Indirect Speech. Out of the four given alternatives, select the one which best expresses the same sentence in
Indirect/Direct Speech.

"What time does the train arrive?" she asked.

Options:

1) She enquired at what time the train arrived

2) She asked about the train

3) When will the train arrive she asked

4) She said when does the train arrive

Correct Answer: She enquired at what time the train arrived

Candidate Answer: She enquired at what time the train arrived
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QID : 352 - A sentence has been given in Direct/Indirect Speech. Out of the four given alternatives, select the one which best expresses the same sentence in
Indirect/Direct Speech.

He said, "I must work hard."

Options:

1) He told him to work hard

2) He was going to work hard

3) He said that he had to work hard.
4) He said I must be working hard

Correct Answer: He said that he had to work hard.
Candidate Answer: He said that he had to work hard.

QID : 353 - A sentence has been given in Direct/Indirect Speech. Out of the four given alternatives, select the one which best expresses the same sentence in
Indirect/Direct Speech.

He said, "My sister is writing letter to my uncle.”

Options:
1) He said that his sister was writing letter to his uncle.

2) He said that her sister is writing a letter to uncle.
3) He told that his sister is writing letter to his uncle.

4) He said to me that his sister is writing a letter
Correct Answer: He said that his sister was writing letter to his uncle.
Candidate Answer: He said that his sister was writing letter to his uncle.

QID : 354 - A sentence has been given in Direct/Indirect Speech. Out of the four given alternatives, select the one which best expresses the same sentence in
Indirect/Direct Speech.

He said to me, "I have told you not to touch any electrical switches with wet hand.”

Options:
1) He reprimanded me that he had told me not to touch any electrical switches with wet hand.

2) He asked me not to touch any electrical switches with wet hand.
3) He told me not to touch any electrical switches with wet hand.

4) He reminded me that he had told me not to touch any electrical switches with wet hand.
Correct Answer: He reminded me that he had told me not to touch any electrical switches with wet hand.
Candidate Answer: He asked me not to touch any electrical switches with wet hand.

QID : 355 - A sentence has been given in Direct/Indirect Speech. Out of the four given alternatives, select the one which best expresses the same sentence in
Indirect/Direct Speech.

He said, "Let us wait for him at the restaurant.”

Options:
1) He ordered that they should wait for him at the restaurant.

2) He said that they should wait for him at the restaurant.
3) He proposed that they should wait for him at the restaurant.

4) They should wait for him at the retaurant he ordered.
Correct Answer: He proposed that they should wait for him at the restaurant.
Candidate Answer: He said that they should wait for him at the restaurant.

QID : 356 - A sentence has been given in Direct/Indirect Speech. Out of the four given alternatives, select the one which best expresses the same sentence in
Indirect/Direct Speech.

He said to Rama, "Come with me."

Options:
1) He asked Rama to go with him.

2) He pleaded Rama to go with him.
3) He said Rama to come with him.

4) Rama come with me he said.
Correct Answer: He asked Rama to go with him.
Candidate Answer: He said Rama to come with him.
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QID : 357 - A sentence has been given in Direct/Indirect Speech. Out of the four given alternatives, select the one which best expresses the same sentence in
Indirect/Direct Speech.

He said, "I am going to fetch a cot."

Options:
1) He requested that he was going to fetch a cot.

2) He will fetch a cot he said.
3) He said that he was going to fetch a cot.

4) He will be fetching a cot he said.
Correct Answer: He said that he was going to fetch a cot.
Candidate Answer: He said that he was going to fetch a cot.

QID : 358 - A sentence has been given in Direct/Indirect Speech. Out of the four given alternatives, select the one which best expresses the same sentence in
Indirect/Direct Speech.

Rohit said, "I came here yesterday"

Options:

1) Rohit said that he went that place

2) Rohit said that he went there yesterday

3) Rohit said that he went there the previous day
4) Rohit said that he was there the previous day

Correct Answer: Rohit said that he went there the previous day
Candidate Answer: Rohit said that he went there the previous day

QID : 359 - A sentence has been given in Direct/Indirect Speech. Out of the four given alternatives, select the one which best expresses the same sentence in
Indirect/Direct Speech.

Ajay said, "Suman must go tomorrow".

Options:
1) Ajay said that Suman would have to go the following day.

2) Ajay said that Suman would have to go tomorrow.
3) Ajay said that Suman must go yesterday.

4) Ajay said that Suman is going tomorrow.
Correct Answer: Ajay said that Suman would have to go the following day.
Candidate Answer: Ajay said that Suman would have to go the following day.

QID : 360 - A sentence has been given in Direct/Indirect Speech. Out of the four given alternatives, select the one which best expresses the same sentence in
Indirect/Direct Speech.

Manu said, "I am very busy now".

Options:
1) Manu says that he is very busy then.

2) Manu said that he is very bisy now.
3) Manu said that he was very busy then.

4) Manu said that he was very busy now.
Correct Answer: Manu said that he was very busy then.
Candidate Answer: Manu said that he was very busy then.

QID : 361 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

They sat

P-each holding a long, crooked rod in his hands
Q-and eagerly waiting for "a bite."
R-in a heavy flat-bottomed boat

Options:

1) PQR

2) RPQ

3) QRP

4) QPR

Correct Answer: RPQ
Candidate Answer: RPQ
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QID : 362 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

The boxes

P-were heavy
Q-so carrying two of them
R was a lot of weight to handle

Options:

1) QRP

2) PQR

3) RPQ

4) QPR

Correct Answer: PQR
Candidate Answer: PQR

QID : 363 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

A long hallway

P- leading to four bedrooms
Q-the back of the upstairs
R-ran across

Options:

1) QPR

2) QRP

3) PQR

4) RQP

Correct Answer: RQP
Candidate Answer: RQP

QID : 364 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

His father laughed softly

P- when he himself had been
Q- casting his mind back to the days of his youth
R- an eager player of the same game

Options:

1) PQR

2) RQP

3) QPR

4) QRP

Correct Answer: QPR

Candidate Answer: QPR

QID : 365 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

When they reached the summit,

P- the boys could hear the faint notes
Q- of a festival wafted towards them
R- on the soft breeze of the spring night

Options:

1) QRP

2) RPQ

3) RQP

4) PQR

Correct Answer: PQR
Candidate Answer: RPQ

QID : 366 - Read the given passage carefully and select the best answer to each question out of the four given alternatives.

For most people, music is an important part of daily life. Some rely on music to get them through the morning commute, while others turn up a favorite playlist to
stay pumped during a workout. Many folks even have the stereo on when they’re cooking a meal, taking a shower, or folding the laundry. Music is often linked to
mood. A certain song can make us feel happy, sad, energetic, or relaxed. Because music can have such an impact on a person’s mindset and well-being, it should
come as no surprise that music therapy has been studied for use in managing numerous medical conditions. All forms of music may have therapeutic effects,
although music from one's own culture may be most effective. In Chinese medical theory, the five internal organs and meridian systems are believed to have
corresponding musical tones, which are used to encourage healing.

Music is often linked to
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Options:
1) anger

2) mood
3) anxiety

4) happiness
Correct Answer: mood
Candidate Answer: mood

QID : 367 - Read the given passage carefully and select the best answer to each question out of the four given alternatives.

For most people, music is an important part of daily life. Some rely on music to get them through the morning commute, while others turn up a favorite playlist to
stay pumped during a workout. Many folks even have the stereo on when they’re cooking a meal, taking a shower, or folding the laundry. Music is often linked to
mood. A certain song can make us feel happy, sad, energetic, or relaxed. Because music can have such an impact on a person’s mindset and well-being, it should
come as no surprise that music therapy has been studied for use in managing numerous medical conditions. All forms of music may have therapeutic effects,
although music from one's own culture may be most effective. In Chinese medical theory, the five internal organs and meridian systems are believed to have
corresponding musical tones, which are used to encourage healing.

How is music an important part of life?

Options:

1) It makes us feel different emotions
2) It makes us sad

3) It helps in our daily activities

4) It helps us in remembering things

Correct Answer: It makes us feel different emotions
Candidate Answer: It makes us feel different emotions

QID : 368 - Read the given passage carefully and select the best answer to each question out of the four given alternatives.

For most people, music is an important part of daily life. Some rely on music to get them through the morning commute, while others turn up a favorite playlist to
stay pumped during a workout. Many folks even have the stereo on when they’re cooking a meal, taking a shower, or folding the laundry. Music is often linked to
mood. A certain song can make us feel happy, sad, energetic, or relaxed. Because music can have such an impact on a person’s mindset and well-being, it should
come as no surprise that music therapy has been studied for use in managing numerous medical conditions. All forms of music may have therapeutic effects,
although music from one's own culture may be most effective. In Chinese medical theory, the five internal organs and meridian systems are believed to have
corresponding musical tones, which are used to encourage healing.

Which of the statements is true?

Options:
1) All forms of music may heal wounds

2) All forms of music may have good effect
3) All forms of music may be soothing

4) All forms of music may have therapeutic effects
Correct Answer: All forms of music may have therapeutic effects
Candidate Answer: All forms of music may have therapeutic effects

QID : 369 - Read the given passage carefully and select the best answer to each question out of the four given alternatives.

For most people, music is an important part of daily life. Some rely on music to get them through the morning commute, while others turn up a favorite playlist to
stay pumped during a workout. Many folks even have the stereo on when they’re cooking a meal, taking a shower, or folding the laundry. Music is often linked to
mood. A certain song can make us feel happy, sad, energetic, or relaxed. Because music can have such an impact on a person’s mindset and well-being, it should
come as no surprise that music therapy has been studied for use in managing numerous medical conditions. All forms of music may have therapeutic effects,
although music from one's own culture may be most effective. In Chinese medical theory, the five internal organs and meridian systems are believed to have
corresponding musical tones, which are used to encourage healing.

How can music be used as a therapy?

Options:
1) It can help us to manage our day to day activities

2) It can help us in managing numerous medical conditions
3) It can help us manage our life

4) It can help us manage our careers
Correct Answer: It can help us in managing numerous medical conditions
Candidate Answer: It can help us in managing numerous medical conditions
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QID : 370 - Read the given passage carefully and select the best answer to each question out of the four given alternatives.

For most people, music is an important part of daily life. Some rely on music to get them through the morning commute, while others turn up a favorite playlist to
stay pumped during a workout. Many folks even have the stereo on when they’re cooking a meal, taking a shower, or folding the laundry. Music is often linked to
mood. A certain song can make us feel happy, sad, energetic, or relaxed. Because music can have such an impact on a person’s mindset and well-being, it should
come as no surprise that music therapy has been studied for use in managing numerous medical conditions. All forms of music may have therapeutic effects,
although music from one's own culture may be most effective. In Chinese medical theory, the five internal organs and meridian systems are believed to have
corresponding musical tones, which are used to encourage healing.

In Chinese medical theory, the five internal organs and meridian systems

Options:

1) are believed to have musical chords

2) are believed to have no musical tones

3) are believed to have same musical tones

4) are believed to have corresponding musical tones

Correct Answer: are believed to have corresponding musical tones

Candidate Answer: are believed to have corresponding musical tones

QID : 371 - Read the given passage carefully and select the best answer to each question out of the four given alternatives.

Approximately half of India’s 1.2 billion people are under the age of 26, and by 2020 we are forecasted to be the youngest country in the world, with a median age
of 29 years. With this tremendous forecast, it becomes imperative to ensure an environment which promotes positive well-being. Unfortunately, India has the highest
suicide rate in the world among the youth standing at 35.5 per 100,000 people for 2012. The reason for such high numbers can be attributed to lack of economic,
social, and emotional resources. More specifically, academic pressure, workplace stress, social pressures, modernisation of urban centers, relationship concerns, and
the breakdown of support systems. Some researchers have attributed the rise of youth suicide to urbanisation and the breakdown of the traditional large family
support system. The clash of values within families is an important factor. As young Indians become more progressive, their traditionalist households become less
supportive of their choices pertaining to financial independence, marriage age, premarital sex, rehabilitation and taking care of the elderly.

Approximately half of India's 1.2 billion people are under the age of

Options:
1) 30

2) 26
3)22

4) 18
Correct Answer: 26
Candidate Answer: 26

QID : 372 - Read the given passage carefully and select the best answer to each question out of the four given alternatives.

Approximately half of India’s 1.2 billion people are under the age of 26, and by 2020 we are forecasted to be the youngest country in the world, with a median age
of 29 years. With this tremendous forecast, it becomes imperative to ensure an environment which promotes positive well-being. Unfortunately, India has the highest
suicide rate in the world among the youth standing at 35.5 per 100,000 people for 2012. The reason for such high numbers can be attributed to lack of economic,
social, and emotional resources. More specifically, academic pressure, workplace stress, social pressures, modernisation of urban centers, relationship concerns, and
the breakdown of support systems. Some researchers have attributed the rise of youth suicide to urbanisation and the breakdown of the traditional large family
support system. The clash of values within families is an important factor. As young Indians become more progressive, their traditionalist households become less
supportive of their choices pertaining to financial independence, marriage age, premarital sex, rehabilitation and taking care of the elderly.

What are the reasons for high number of suicide rates among the youth in India?

Options:
1) lack of monetary help by the government

2) lack of healthy foods
3) lack of economical,social and emotional resources

4) lack of good roads and transports
Correct Answer: lack of economical,social and emotional resources
Candidate Answer: lack of economical,social and emotional resources

QID : 373 - Read the given passage carefully and select the best answer to each question out of the four given alternatives.

Approximately half of India’s 1.2 billion people are under the age of 26, and by 2020 we are forecasted to be the youngest country in the world, with a median age
of 29 years. With this tremendous forecast, it becomes imperative to ensure an environment which promotes positive well-being. Unfortunately, India has the highest
suicide rate in the world among the youth standing at 35.5 per 100,000 people for 2012. The reason for such high numbers can be attributed to lack of economic,
social, and emotional resources. More specifically, academic pressure, workplace stress, social pressures, modernisation of urban centers, relationship concerns, and
the breakdown of support systems. Some researchers have attributed the rise of youth suicide to urbanisation and the breakdown of the traditional large family
support system. The clash of values within families is an important factor. As young Indians become more progressive, their traditionalist households become less
supportive of their choices pertaining to financial independence, marriage age, premarital sex, rehabilitation and taking care of the elderly.

By which year India will become the youngest country in the world?
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Options:
1) 2017
2) 2030
3) 2019
4) 2020

Correct Answer: 2020
Candidate Answer: 2020

QID : 374 - Read the given passage carefully and select the best answer to each question out of the four given alternatives.

Approximately half of India’s 1.2 billion people are under the age of 26, and by 2020 we are forecasted to be the youngest country in the world, with a median age
of 29 years. With this tremendous forecast, it becomes imperative to ensure an environment which promotes positive well-being. Unfortunately, India has the highest
suicide rate in the world among the youth standing at 35.5 per 100,000 people for 2012. The reason for such high numbers can be attributed to lack of economic,
social, and emotional resources. More specifically, academic pressure, workplace stress, social pressures, modernisation of urban centers, relationship concerns, and
the breakdown of support systems. Some researchers have attributed the rise of youth suicide to urbanisation and the breakdown of the traditional large family
support system. The clash of values within families is an important factor. As young Indians become more progressive, their traditionalist households become less
supportive of their choices pertaining to financial independence, marriage age, premarital sex, rehabilitation and taking care of the elderly.

The within families is an important factor.

Options:
1) clash of values

2) clash of resources
3) clash of power

4) clash of thinking
Correct Answer: clash of values
Candidate Answer: clash of values

QID : 375 - Read the given passage carefully and select the best answer to each question out of the four given alternatives.

Approximately half of India’s 1.2 billion people are under the age of 26, and by 2020 we are forecasted to be the youngest country in the world, with a median age
of 29 years. With this tremendous forecast, it becomes imperative to ensure an environment which promotes positive well-being. Unfortunately, India has the highest
suicide rate in the world among the youth standing at 35.5 per 100,000 people for 2012. The reason for such high numbers can be attributed to lack of economic,
social, and emotional resources. More specifically, academic pressure, workplace stress, social pressures, modernisation of urban centers, relationship concerns, and
the breakdown of support systems. Some researchers have attributed the rise of youth suicide to urbanisation and the breakdown of the traditional large family
support system. The clash of values within families is an important factor. As young Indians become more progressive, their traditionalist households become less
supportive of their choices pertaining to financial independence, marriage age, premarital sex, rehabilitation and taking care of the elderly.

How can we prevent youth from committing suicide?

Options:

1) by making families progressive

2) by creating an environment that which promotes good behaviour
3) by creating an environment that which promotes positive well being
4) by creating career opportunities

Correct Answer: by creating an environment that which promotes positive well being
Candidate Answer: by creating an environment that which promotes positive well being

QID : 376 - Read the given passage carefully and select the best answer to each question out of the four given alternatives.
He was a vendor of sweets. He had his own peculiar method of advertising and doing business. He never depended upon others for help and worked hard all alone. I
speak of Murali--- the man who sold sweets. His customers were children, the future citizens of the world. At the stroke of nine in the morning, Murali would stand in

front of the school with his tray of sweets. Till about eleven, the sale would be brisk. After that he moved off to other places. Even when the sweets became sticky in
the heat, his business never slackened. There was depression in his business when the holidays came.

Who was Murali?

Options:
1) a businessman

2) a vendor of sweets
3) a job seeker

4) a student
Correct Answer: a vendor of sweets
Candidate Answer: a vendor of sweets
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QID : 377 - Read the given passage carefully and select the best answer to each question out of the four given alternatives.

He was a vendor of sweets. He had his own peculiar method of advertising and doing business. He never depended upon others for help and worked hard all alone. I
speak of Murali--- the man who sold sweets. His customers were children, the future citizens of the world. At the stroke of nine in the morning, Murali would stand in
front of the school with his tray of sweets. Till about eleven, the sale would be brisk. After that he moved off to other places. Even when the sweets became sticky in
the heat, his business never slackened. There was depression in his business when the holidays came.

Who were his customers?

Options:
1) the children

2) the adults
3) the office goers

4) the housewives
Correct Answer: the children
Candidate Answer: the children

QID : 378 - Read the given passage carefully and select the best answer to each question out of the four given alternatives.

He was a vendor of sweets. He had his own peculiar method of advertising and doing business. He never depended upon others for help and worked hard all alone. I
speak of Murali--- the man who sold sweets. His customers were children, the future citizens of the world. At the stroke of nine in the morning, Murali would stand in
front of the school with his tray of sweets. Till about eleven, the sale would be brisk. After that he moved off to other places. Even when the sweets became sticky in
the heat, his business never slackened. There was depression in his business when the holidays came.

What time would he go to the school?

Options:
1) at 10 in the morning

2) at 8 in the morning
3) at 3 in the afternoon

4) at 9 in the morning
Correct Answer: at 9 in the morning
Candidate Answer: at 9 in the morning

QID : 379 - Read the given passage carefully and select the best answer to each question out of the four given alternatives.

He was a vendor of sweets. He had his own peculiar method of advertising and doing business. He never depended upon others for help and worked hard all alone. I
speak of Murali--- the man who sold sweets. His customers were children, the future citizens of the world. At the stroke of nine in the morning, Murali would stand in
front of the school with his tray of sweets. Till about eleven, the sale would be brisk. After that he moved off to other places. Even when the sweets became sticky in
the heat, his business never slackened. There was depression in his business when the holidays came.

Complete the sentence.

Till about eleven, the sale would be

Options:

1) high

2) worse

3) brisk

4) low

Correct Answer: brisk
Candidate Answer: brisk

QID : 380 - Read the given passage carefully and select the best answer to each question out of the four given alternatives.

He was a vendor of sweets. He had his own peculiar method of advertising and doing business. He never depended upon others for help and worked hard all alone. I
speak of Murali--- the man who sold sweets. His customers were children, the future citizens of the world. At the stroke of nine in the morning, Murali would stand in
front of the school with his tray of sweets. Till about eleven, the sale would be brisk. After that he moved off to other places. Even when the sweets became sticky in
the heat, his business never slackened. There was depression in his business when the holidays came.

When did the depression come in his business?

Options:

1) after the holidays

2) when the holidays came

3) he was found cheating

4) None of these

Correct Answer: when the holidays came

Candidate Answer: when the holidays came
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QID : 381 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

You can spend hours looking for , days waiting for that Eureka , moving things around on screen, staring at blank pieces of paper,

down half-formed ideas, all to no avail. Sometimes coming up with just one creative idea can feel .You feel this way because creativity is a
process, a that has to be learned and honed. you're a marketer, designer, entrepreneur or anything in between, creative thinking is a
valuable skill to . It can help us find , tailored solutions to problems and create memorable and effective

You can spend hours looking for

Options:
1) dedication

2) inspiration
3) solutions

4) ideas
Correct Answer: inspiration
Candidate Answer: ideas

QID : 382 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

You can spend hours looking for , days waiting for that Eureka , moving things around on screen, staring at blank pieces of paper,

down half-formed ideas, all to no avail. Sometimes coming up with just one creative idea can feel .You feel this way because creativity is a
process, a that has to be learned and honed. you're a marketer, designer, entrepreneur or anything in between, creative thinking is a
valuable skill to . It can help us find , tailored solutions to problems and create memorable and effective

days waiting for that Eureka

Options:
1) moment

2) movement

3) type

4) day
Correct Answer: moment
Candidate Answer: type

QID : 383 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

You can spend hours looking for. , days waiting for that Eureka , moving things around on screen, staring at blank pieces of paper,

down half-formed ideas, all to no avail. Sometimes coming up with just one creative idea can feel .You feel this way because creativity is a
process, a that has to be learned and honed. you're a marketer, designer, entrepreneur or anything in between, creative thinking is a
valuable skill to . It can help us find , tailored solutions to problems and create memorable and effective

down half-formed ideas

Options:
1) idea

2) pencil
3) jotted

4) writes
Correct Answer: jotted
Candidate Answer: jotted

QID : 384 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

You can spend hours looking for , days waiting for that Eureka , moving things around on screen, staring at blank pieces of paper,

down half-formed ideas, all to no avail. Sometimes coming up with just one creative idea can feel .You feel this way because creativity is a
process, a that has to be learned and honed. you're a marketer, designer, entrepreneur or anything in between, creative thinking is a
valuable skill to . It can help us find , tailored solutions to problems and create memorable and effective

no avail.
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Options:
1) absolutely
2) silence

3) fully

4) rightly
Correct Answer: absolutely
Candidate Answer: fully

QID : 385 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

You can spend hours looking for , days waiting for that Eureka , moving things around on screen, staring at blank pieces of paper,

down half-formed ideas, all to no avail. Sometimes coming up with just one creative idea can feel .You feel this way because creativity is a
process, a that has to be learned and honed. you're a marketer, designer, entrepreneur or anything in between, creative thinking is a
valuable skill to . It can help us find , tailored solutions to problems and create memorable and effective

creative idea can feel

Options:
1) impossible

2) lazy
3) cold

4) hot
Correct Answer: impossible
Candidate Answer: lazy

QID : 386 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

You can spend hours looking for , days waiting for that Eureka , moving things around on screen, staring at blank pieces of paper,

down half-formed ideas, all to no avail. Sometimes coming up with just one creative idea can feel .You feel this way because creativity is a
process, a that has to be learned and honed. you're a marketer, designer, entrepreneur or anything in between, creative thinking is a
valuable skill to . It can help us find , tailored solutions to problems and create memorable and effective

a that has to be learned and honed.

Options:
1) talent

2) hobby
3) skill

4) sense
Correct Answer: skill
Candidate Answer: skill

QID : 387 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

You can spend hours looking for , days waiting for that Eureka , moving things around on screen, staring at blank pieces of paper,
down half-formed ideas, all to no avail. Sometimes coming up with just one creative idea can feel .You feel this way because creativity is a

process, a that has to be learned and honed. you're a marketer, designer, entrepreneur or anything in between, creative thinking is a
valuable skill to . It can help us find , tailored solutions to problems and create memorable and effective

you're a marketer

Options:
1) and

2) but
3) still

4) whether
Correct Answer: whether
Candidate Answer: whether
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QID : 388 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

You can spend hours looking for , days waiting for that Eureka , moving things around on screen, staring at blank pieces of paper,

down half-formed ideas, all to no avail. Sometimes coming up with just one creative idea can feel .You feel this way because creativity is a
process, a that has to be learned and honed. you're a marketer, designer, entrepreneur or anything in between, creative thinking is a
valuable skill to . It can help us find , tailored solutions to problems and create memorable and effective

creative thinking is a valuable skill to

Options:
1) possess

2) have
3) should

4) get
Correct Answer: possess
Candidate Answer: possess

QID : 389 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

You can spend hours looking for , days waiting for that Eureka , moving things around on screen, staring at blank pieces of paper,

down half-formed ideas, all to no avail. Sometimes coming up with just one creative idea can feel .You feel this way because creativity is a
process, a that has to be learned and honed. you're a marketer, designer, entrepreneur or anything in between, creative thinking is a
valuable skill to . It can help us find , tailored solutions to problems and create memorable and effective

It can help us find .

Options:
1) senseless

2) unique
3) ugly

4) worst
Correct Answer: unique
Candidate Answer: unique

QID : 390 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

You can spend hours looking for , days waiting for that Eureka , moving things around on screen, staring at blank pieces of paper,
down half-formed ideas, all to no avail. Sometimes coming up with just one creative idea can feel .You feel this way because creativity is a

process, a that has to be learned and honed. you're a marketer, designer, entrepreneur or anything in between, creative thinking is a
valuable skill to . It can help us find , tailored solutions to problems and create memorable and effective

create memorable and effective

Options:
1) memories

2) communications
3) borders

4) relations
Correct Answer: communications
Candidate Answer: memories

QID : 391 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Art movement is described as a or way of doing art of art that spans over a of time that is subtly or different than another
movement of art. The style or method "moves" or changes to a different way if you will. These styles are used to art practiced by a group of within
the same time period and/or region. Some art that have been influenced by another art movement show obvious while others seem to defy
their cousins because of . It is interesting to study the differences between art and also to study the different of art.

Art movement is described as a
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Options:
1) type

2) style
3) like

4) practice
Correct Answer: style
Candidate Answer: style

QID : 392 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Art movement is described as a or way of doing art of art that spans over a of time that is subtly or different than another
movement of art. The style or method "moves" or changes to a different way if you will. These styles are used to art practiced by a group of within

the same time period and/or region. Some art that have been influenced by another art movement show obvious while others seem to defy
their cousins because of . It is interesting to study the differences between art and also to study the different of art.

art that spans over a of time.

Options:
1) tide

2) wait
3) period

4) during
Correct Answer: period
Candidate Answer: period

QID : 393 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Art movement is described as a or way of doing art of art that spans over a of time that is subtly or different than another
movement of art. The style or method "moves" or changes to a different way if you will. These styles are used to art practiced by a group of within
the same time period and/or region. Some art that have been influenced by another art movement show obvious while others seem to defy
their cousins because of . It is interesting to study the differences between art and also to study the different of art.

different than another movement of art.

Options:
1) distinctly

2) easy
3) newly

4) otherwise
Correct Answer: distinctly
Candidate Answer: easy

QID : 394 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Art movement is described as a or way of doing art of art that spans over a of time that is subtly or different than another
movement of art. The style or method "moves" or changes to a different way if you will. These styles are used to art practiced by a group of within
the same time period and/or region. Some art that have been influenced by another art movement show obvious while others seem to defy
their cousins because of . It is interesting to study the differences between art and also to study the different of art.

These styles areusedto________ art practiced.

Options:

1) Visualise

2) Describe

3) Imagine

4) Ignore

Correct Answer: Describe
Candidate Answer: Describe
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QID : 395 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Art movement is described as a or way of doing art of art that spans over a of time that is subtly or different than another
movement of art. The style or method "moves" or changes to a different way if you will. These styles are used to art practiced by a group of within
the same time period and/or region. Some art that have been influenced by another art movement show obvious while others seem to defy
their cousins because of . It is interesting to study the differences between art and also to study the different of art.

group of within the same time period and/or region.

Options:

1) businessmen

2) actors

3) ventors

4) artists

Correct Answer: artists
Candidate Answer: artists

QID : 396 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Art movement is described as a or way of doing art of art that spans over a of time that is subtly or different than another
movement of art. The style or method "moves" or changes to a different way if you will. These styles are used to art practiced by a group of within
the same time period and/or region. Some art that have been influenced by another art movement show obvious while others seem to defy
their cousins because of . It is interesting to study the differences between art and also to study the different of art.

Some art that have been influenced.

Options:

1) movements

2) pictures

3) books

4) scenes

Correct Answer: movements
Candidate Answer: pictures

QID : 397 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Art movement is described as a or way of doing art of art that spans over a of time that is subtly or different than another
movement of art. The style or method "moves" or changes to a different way if you will. These styles are used to art practiced by a group of within
the same time period and/or region. Some art that have been influenced by another art movement show obvious while others seem to defy
their cousins because of . It is interesting to study the differences between art and also to study the different of art.

art movement show obvious while others.

Options:

1) alike

2) same

3) eagerness

4) similarities
Correct Answer: similarities
Candidate Answer: similarities

QID : 398 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Art movement is described as a or way of doing art of art that spans over a of time that is subtly or different than another
movement of art. The style or method "moves" or changes to a different way if you will. These styles are used to art practiced by a group of within
the same time period and/or region. Some art that have been influenced by another art movement show obvious while others seem to defy
their cousins because of . It is interesting to study the differences between art and also to study the different of art.

defy their cousins because of

Options:
1) limitations

2) benefits
3) distance

4) time
Correct Answer: limitations
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Candidate Answer: time

QID : 399 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Art movement is described as a or way of doing art of art that spans over a of time that is subtly or different than another
movement of art. The style or method "moves" or changes to a different way if you will. These styles are used to art practiced by a group of within
the same time period and/or region. Some art that have been influenced by another art movement show obvious while others seem to defy
their cousins because of . It is interesting to study the differences between art and also to study the different of art.

study the differences between art

Options:
1) movements

2) flow
3) revolution

4) adequate
Correct Answer: movements
Candidate Answer: flow

QID : 400 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Art movement is described as a or way of doing art of art that spans over a of time that is subtly or different than another
movement of art. The style or method "moves" or changes to a different way if you will. These styles are used to art practiced by a group of within

the same time period and/or region. Some art that have been influenced by another art movement show obvious while others seem to defy
their cousins because of . It is interesting to study the differences between art and also to study the different of art.

study the different of art.

Options:
1) length

2) timezone
3) periods

4) duration
Correct Answer: periods
Candidate Answer: timezone
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